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part A ==

Appropriate Vocabulary

Confusing Words A: Words with similar spelling

1
2
3
4
5
6
7
8

. economical (adj. ZHEQI, Moksl=), *economic (adj. Zx|(AH)e])
. respectful (adj. Z&3t, BES), *respective (adj. ztzto|, ztxto))
. handful (n. 8t &; M2 &), *handy (adj. AL25t7| Ha|sh)

. intelligible (adj. 27| 2|2, "&8t), *intelligent (adj. 245t x|

. considerable (adj. 4gst 1 %), *considerate (adj. Al ZE. 0[5Al /=)
. successive (adj. H&5h=, ASEQI), *successful (ad). Az=0l)

. objection (n. il 0]2]), *objective (1. 27, 27)

. currency (n. 3, RE), *current (adj. 31|, E=l= n. 52)

. historic (adj. 2AFEQI), historian’s (1. FAZ}, AFSER}

. hostel (n. £4tA), hostile (adj. 225 £9|, 0t £22 ZHE 717
. idol (n. 24, idle (adj. 317kt

. at last (ad. DIZILY), *at least (ad. (A

. overdo (v. XILtx|A| &tct), overdue (ad). 7|5t0] X|t)

. reality (n. $4), realty (n. 284t

. register (v. S25lC}), registrar (n. sH Ggk AFRH)

. root (n. 2¢), routes (n. Z, &=2)

. soar (v. dote2rt), sore (adj. OFZ)

© © O N O O A WON =

—h

. stationery (n. 278), stationary (adj. ¥i3} ¢le)

&

. admire (v. ZESICH, admit (v. QI™EICH

. assumes (v. £=5iC}), consume (v. AH|3tCH

. bazaar (n. AIZ, HEXEE]), bizarre (ad). 7|2lst, 0]A6hH
. capital (n. Xf2, X}, capitol (n. 23|2|Al)

. sensor (n. ZX|7]), censor’s (n. AL

. convenient (adj. 2|8, convention (1. £3)

. duel (n. &8, M), dual (adj. 0|52])

. ecology (n. Mefst), environment (. &
. emigrate (v. E}222 0|F3iCH, immigrate (v. EFZ0l|lM 0|F3H2Lt)
. formally (ad. ®Alez), formerly (ad. Fof|, 0|o|)

) *870| 21230 5= 4L environmental study £< environmental science

O © O N O O A WON =

—h
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Confusing Words B: Words with similar meaning

1. neighborhoods (n. X|¥, E4|), neighbors (1. 0|)
2. earn (v. 0|2g Hrt, =S L), *pay (v £2 X5l
3. goal (n. 2X), *destination (n. 2x{x|)
4. grow (v. RHHHSICH, *bring up (v. 7|2Ct, 712 XICH
5. rent (v. &, EX| 52 UisiCt), *hire (1. MYS 1R51CH 72 2ac))
6. industrial (adj. AFHAQ), *industrious (adj. £x[215H
7. lane (n. T 29| xtM), *line (n. %)
8. shade (n. a5, 24, *shadow (n. 22X, 24)
9. packaging (n. &2{7|, A2 ZAE), *wrapping (1. Zx&, ZATH)
10. lonely (adj. n=gt, £43), *alone (adv. £2. EXA)
1. old (adj. @elEl), *antique (adj. 252))
2. region (n. st X|H), *place (n. &4)
3. weather (n. gM|, 271), *climate (n. 7|5)
4. culture (n. 23}), *tradition (n. HE)
5. collaboration (n. §x), *assistance (n. £2)
6. cure (v. 8, AX 52 T & ME|2 S0t} *heal (v. QAS X|Z25iCH
7. custom (n. Z&, B5), *habit (n. 7§0lo] &2 HZ)
8. damage (n. &), *hurt (n. ZAX AR, 1)
9. increase (v. Z7I5ICH SFAAIZICH, *expand (v. 2], He| S sixksict)
10. blow up (v. ZAI7|CH, *blow over (v. X|LE7IC}
Review
1. place 2.0
3. hurt 4. O
5.0 6. economic
7. weather 8. intelligent
9. assumes 10. O

p.15
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part A ==

Grammar for Speaking

Grammar for Speaking: Correct verb usage

A. Basic Patterns

. She arrived in London yesterday and visited lots of tourist attractions.

. The airport announced the delay in departure to the passengers.

O

. The customers often complain about the meal provided during the flight.
. He was supposed to marry with her, but is dating another girl now.

. My teacher caught me looking at another student’s answers.

. He sent & me a letter of apology for his wrongdoings.

O

® N O AN S

B. Verbals: to + infinitive vs. gerund

1. She promised not to break the law again and to become a good person.
. | don’t mind your walking around the office when you have nothing to do.
. It’s very nice of you to offer such a favor to me.

. His complaining about the food is an example of his selfish attitude.

. | want you to quit bothering other people about that matter.

. Not drinking coffee is much better for some people with diabetes.

. After | finished reporting to the police, | hung up the phone.

. 1o be honest is to never tell a lie to others.

0O NOoO O, ODN

C. Subject-Verb Agreement

1. is 2. have
3. interferes 4. have
5. knows 6. lives
7. was 8. think

Grammar for Speaking: Improving fluency

A. Comparatives
1. ® 2.® 3.0 4. @ 5 @ 6. ®

B. Relative Clauses

1. who 2. which/that
3. whose 4. which/that

A4 M TOEFL SPEAKING



5.

which/that/A4zt 6. which/that

7. whose 8. for which

Review

[ Qi G Gy
A WO DN = O

© O NO O A WD =

. Rachel attends high school and participates in various extracurricular activities.

0]

. Mr. Parker had the agent +& make a flight reservation for his business trip.

. | don’t think | could bear smoking in a closed room or ar office.

. Think once more before you make a purchase to avoid buying unnecessary things.
. Professors expect their students not to cheat on the exam.

. We learned that a predator is an animal that kills and eats other animals.

. All the money made from this bake sale is going to be donated to charity.

. Neither they nor | am very happy with the way things have turned out.

. Julia is more beautiful than any other girl at our school.

. O

. Some people can’t eat any foods which/that/A2f contain peanuts.

. O

. The ingredients which/that are used in Japanese food are mostly fresh and natural.

p.23
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part A ==

Pronunciation

Articulation

o NGo o

© N o w =

. vase
. phase

base
doze

. SOrrow

row

. fry
15.
17.
19.

right
treasure
hall

. praying
. collect

best

. bridge
. thinking

Word Stress

= O N O W =

. refléct

. hdomework
. graduation
. admirable

. annivérsary
. circuit

. éxpert

15.
17.
19.

rebuild
natural
commit

10.

0w o A~DN

® o MDD

© o ADd

face
pace
those

. thorough
10.
12,
14.
16.
18.
20.

low

fly

light
judge
invasion
whole

. worked

bowl
past
cut

paint

. contémporary
. discourage

. absurd

. académic

10.
12.
14.
16.
18.
20.

baggage
colleague
produce
survival
empléyment
physician

1. If you have any questions or comments, please let me know.

A6 M TOEFL SPEAKING
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g A ON =

. Push the recérd button on top to recérd messages.
. Early 19th—century paintings are displayed on the fourth floor.
. | need to have my wisdom teeth extracted.

. The ébject of this game is to hit as many balls as you can in the given time.

. If  wear a uniform, | won’t have to think about what to wear every morning.

. Experts say that one-seventh of the world’s population suffers from extreme hunger.
. The Amazon rainforest is being destroyed even at this moment.

. Humans are the only creatures that can feel others’ pain as their own.

- Jennifer does not like the food in the cafeteria, so she packs her own lunch.

Fluid Delivery p.30

oo Zl—E— Z_FHA'l oo

UEM= L7t Zotehs Tl & B AFOIC = A2 22 AROICt. Li= SHO|L GXREIFIRM] A0 2243t Ho| S wiotct 25 Fofrt
M ZoiE g OE AL LS 7130 W 2HIS0l sl LAl Seict. J= Eo 0 X|IXo|ot. 2= EXt ASHEM YRS MES HE AS &

2
Ch. = FAIS{0) Z2E XIAIS JHRIT 0f, U M SOIFCH T3 = 77k 23 9] 9, Lis 25 3 § Holch 1 1R 600] E9t=d),
Lto] & A 1} S07HAI $2] HOMHIS ATIAIZICE

OfR| 3t 710] MEAKTZ} QUACH LU= BI7} L2l TEO| 7101, HA SFAN= HH S2122 S3i A2l & 27} §I(ct OFlol Y| ool 2
FALSOIA| ZRAQIKIZ 2= B O7|X| UUTH ACh} HalS 2k HALHE2 22 3 XS 2XSHs EASOZS AT 1 HA
ST YThHolM O X9t SSHCH 1 AL B2 AAISO| et RS XIS 3 £ 9l 2FAHSA| 9110 H3HE 21, 2 24w
TERS0| 1 HAR YT} T AL APl SAEIOLE ST MEYT 2F WO AL,

o =

0

Review p.32

* e Sample Answer ®

My favorite movie is Forrest Gump. The first reason why | like Forrest Gump is because it makes me laugh. There
is so much humor in this movie that | laugh so much whenever | watch it. The lead character, Forrest Gump, is
always saying and doing funny things throughout the movie, so | cannot help but smile whenever | see his face.
Moreover, Forrest Gump is my favorite movie of all time because all the actors in this movie are amazing. The
actor who plays Forrest Gump, Tom Hanks, especially plays the role so well. He actually won the Oscar for Best
Actor that year for his role. This proves how great an actor he is.

Scripts & Answer Key A7



part B ==

Personal Preference

Practice 1 A

* e Sample Outlining ®*

Topic Mother
Reason 1 Good manners
Details - table manners
e.g. speaking w/ mouth full
- being polite to others
Reason 2 Making decisions

Details - make decision slowly

- to be careful

Idea tip
likable character: 32t 7}= 8420 considerate person: Alg] Z2 Al2t make a decision: A&t
set a good example: 22 Ex7|7} £t} good character: Z22 424 humble person: Akt A2t

4=
good listener: Ho| 42 & S0{F= Al2E organized person: A&l Q= Alzt

* e Sample Response ® ®

Topic Sentence: The person who influenced me the most is my mother.

Reason 1: | think the most important thing she has taught me is good manners.

Details: To start with, she showed me good table manners. | never speak with my mouth full or leave the table
before others. She has taught me to be polite to others using good manners as well.

Reason 2: Another thing she has taught me about is making decisions.

Details: | always make important decisions slowly. She says a decision can change my whole life. | always try to

be careful when | have to decide on a certain thing.

A8 M TOEFL SPEAKING



Practice 2

* e Sample Outlining ®*

Topic Library
Reason1 Quiet place
Details - relaxing

- easy to concntrt

Reason 2  Good to study
Details - many resources
e.g. books, Internet, etc.
- get info
Idea tip

pleasant atmosphere: mWotst 227

concentrate on: ~0| =3t spacious: 2710 §2

get information: H&2Z Act

take a nap: &2 xiCt meeting place: gtetol A take a break: 4= AlZt2 2Tt get along with people: AlZE1t of22|ct

* e Sample Response ® ®

Topic Sentence: My favorite spot on campus is the library.
Reason 1: Firstly, | think it is the quietest place | can go.

Details: It is relaxing. It helps me rest between classes and lectures. When | do assignments in the library, it is

easy to concentrate on my work. This is because of its peaceful atmosphere.

Reason 2: Secondly, the library is the best place to study.

Details: | can borrow books, search the Internet, or read newspapers. Also, the library staff can help me find

information that | need for assignments and exams.

Practice 3

* e Sample Outlining ®*

Topic Martial arts

Reason 1 Confidence

Details - protect myself

Reason 2 Fitness & health

Details - kicking & punching practice

- exercise every day
e.g. pushups & running

Idea tip

pleasurable activity: 242 &=  indoor sport: MRS preparation for: ~& 2|5t FH|

= ()

build one’s strength: &g 7|2t use up energy: &8 At worthwhile: 7kx|7t Q=

p.47

take part in: ~0f &7tsict
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* e Sample Response ® *

Topic Sentence: When it comes to after-school activities, my favorite is martial arts.

Reason 1: One reason is that it gives me confidence in myself.

Details: In martial arts, you use your arms and legs to fight. | know | am strong enough to protect myself and
other people.

Reason 2: Another reason | like martial arts is that it makes me fit.

Details: Practicing kicking and punching makes my body flexible. Also, my teacher makes us exercise a lot.
We have to do push-ups and go running every day, so | stay healthy and feel good.

iBT Practice p.48

Question 1

* e Sample Response ® *

My ideal job is to be a veterinarian. The main reason for this is that | love animals. | would like to know how to help
sick animals get better. When my cat was sick, | took her to a vet. The vet was very kind, and | was impressed
with his skillful manner. He made me want to become a vet. Also, as a vet | would have to use science. Science is
my favorite subject, especially biology. | enjoy studying science, and | always get good grades. | think being a vet

would be a fulfilling and fun job for me.

Question 2

* e Sample Response ®*

It seems to me that dramatic movies are the most interesting. One of the reasons for this is that they are realistic.
The characters in dramatic films are believable, and | can relate to how they are feeling. Seeing how other
people solve problems makes me think about how | can solve my own problems. Another reason is that they are
entertaining. Dramatic films often have interesting topics that are new to me, so | can find out about interesting
things when | watch dramatic movies.

Say It Right p.49

1. make 2. do
3. do 4. make
5. make 6. make
7. do 8. make
9. do 10. make
11. make 12. do
13. make 14. do

A10 M TOEFL SPEAKING



15.
17.
19.

do
make
make

. do harm
. make an excuse
. do business

16.
18.
20.

do
do
make

. make an attempt
. make an offer
. do a favor

Scripts & Answer Key
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part B ==

Paired Choice

Practice 1

* e Sample Outlining ®*

Choice Teacher

Reason 1 Learn effectively

Details - teacher’s considerable knowledge
— learn in an organized way

Reason 2 Enhance learning skills

Details - in a group: share thoughts

Idea tip

improve learning skills: st& 528 =0Ict  the goal of learning: st& 2%  beneficial: 0|22

feeling of achievement: A%zt invaluable: 04 HZE8t motivation: 57|  adequate understanding: £&£5t 0|3
self-reliant: XA oK [5H=

* e Sample Response ® ®
Topic Sentence: | find it better to learn from a teacher than to learn by myself.
Reason 1: My first reason for this is that | can be guided by lesson plans, which help me learn effectively.

p.57

Details: A teacher’s considerable knowledge provides me with learning resources that help me learn in an

organized way.

Reason 2: Secondly, | believe learning with a group of students and a teacher enhances my learning skills.

Details: In a group, | am able to actively engage with people and share my thoughts with them. This makes

the learning experience more fun and effective.

Practice 2

* e Sample Outlining ®*

Choice Parents
Reason 1 Personality
Details - raise from birth

— understand well
Reason 2 Emotional & moral development
Details - learn way of life

- overcome difficulties

A12 M TOEFL SPEAKING
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Idea tip
affect: ~0f @&k2 Lt emotional: Z&=Q21  make progress: &&sICH  unconditional: 222401 moral: =] 22|90
admire: Z4sict  influential: ¥& Q=

* e Sample Response ® *®

Topic Sentence: In my opinion, parents influence children more than teachers do.

Reason 1: My first reason for this is that parents affect their children’s personality.

Details: Parents raise their children from birth. Therefore, they understand their children’s personalities well.

This will play an important role in shaping the children’s character.

Reason 2: Secondly, | believe parents influence the emotional and moral development of their children.
Details: Other than just being educated by teachers, children can learn the ways of life from their parents.
This will later help children overcome difficult situations.

Practice 3 p.59

* e Sample Outlining ®*

Choice Internet
Reason 1 More convenient

Details - available anytime & anywhere
- can be updated
Reason 2  Trade opinions

Details - share my thoughts
- post comments
e.g. online forums

Idea tip
updated news: ZAl A get access to: ~0| 5l post comments: 9|#AS 2t convenient: ®2|st  deliver: T3l
section: (A2, &x|9]) 2#E)  flood of information: 2o &4  informative article: St 7|At

* e Sample Response ® ®
Topic Sentence: | would rather use the Internet than read newspapers to get news.
Reason 1: My first reason for this is that the Internet is an easier, faster, and more convenient way to get news.

Details: Internet access is available anytime and anywhere there are computers. Without having to carry a
newspaper, | can quickly and easily be updated on the news.
Reason 2: Secondly, | can trade opinions about the news with other people.

Details: Through online forums, | can share my thoughts about the news with other people by posting my
comments on the Internet. In contrast, such discussions are impossible with newspapers.

Scripts & Answer Key Al3



iBT Practice p.60

Question 1

* e Sample Response ® ®

| prefer traveling with companions rather than traveling alone. One of my reasons for this is that | want to have
someone to share my memories with. For example, spending quality time talking, eating, and taking photos with
my friends is the most important factor to me when | travel. This way, | can also develop a life-long friendship with
my travel companions. Secondly, it is possible to save money when traveling with companions. | will be able to

save on travel expenses like hotels, fares, and meals, because | can split them with my companions.

Question 2

* e Sample Response ® ®

The way | see it, computers have made life more difficult and complicated. It is because first, your life can be
hampered by computers. You can be constantly interrupted by emails and instant messages. This creates
distractions, and it takes a long time to get back to the task you were originally working on. Secondly, computers
always require a full understanding of a new technology. Technological devices are supposed to make life simpler,
but instead, they end up making it complicated because you have to learn so many new things.

Say it Right p.61

1. after 2. off

3. over 4. a big project

5. a student loan 6. my words

7. up

1. It will take at least two hours to finish this project.

2. | think it is possible for people to improve the quality of their life through education.

3. Playing sports with my friends is the best way to get rid of/relieve my stress.

4. When | was a high school student, | used to study in the library late at night to prepare for university entrance
exams.

5. My father made up his mind to return to the farm after his retirement.

[=2]

. Most living creatures cannot live in extremely cold environments, but some extraordinary plants are able to live in
Snow.

7. Cheating on an exam or a test is a serious offense at any university.

8. Offering additional services for free is a good way to increase business.

Al14  mTOEFL SPEAKING



part B

Progressive Test o p.63

Question 1

® Sample Response
India is a place | have never been to, but | would like to visit. This is because first, in India, it is possible to
experience both the ancient and the modern at the same time. In Old Delhi, there are mosques and monuments
that display India’s Muslim history. In New Delhi, on the other hand, | can see many beautiful modern houses
and buildings. Secondly, India offers a great variety of foods, characterized by rich spices. Moreover, Indian food

differs in each region, so | could enjoy many different dishes in one country.

Question 2

® Sample Response ®
| think that television can provide students with helpful information. Firstly, there are a lot of good documentaries
on cable channels. Watching documentaries helps me improve my general knowledge so | can have better
conversations with my teachers and classmates at school. Another reason for this is that | can find out what
is happening in the world by watching the news. | think it is good to know about news and current events so
| understand the things that might affect my life. Moreover, the news helps me understand classes such as

sociology and political science.

Scripts & Answer Key Al5



part G ==

Paraphrasing

Practice 1

p.69

1. goup 2. late, right away

3. happy 4. Frequent absences, lower
5. objected to 6. at all times

7. details regarding

The term “grade inflation” refers to an increase in the average grades awarded to students when the quality

of academic work has not risen equally. Grade inflation is viewed by many as a major problem at American

universities. For example, at Harvard University in 1890, the average undergraduate student’s grade point average
(GPA) was 2.27. By 2008, it had risen by more than a letter grade, to 3.48. Since it is unlikely that today’s students
are that much smarter and more hard-working than those of 1890, experts view this rise in grades as a result of
lower academic standards.

— The term “grade inflation” refers to a rise in the average grades awarded to students when the quality of
academic work has not risen equally. Grade inflation is viewed by many as a serious issue at American universities.

For example, at Harvard University in 1890, the average undergraduate student’s grade point average (GPA) was
2.27. In 2008, it had gone up by more than a letter grade, to 3.48. Since it is unlikely that today’s students are
that much smarter and more studious than those of 1890, experts interpret this rise in grades as a result of lower
academic standards.

oo Z|_E_ z'_7|-|}\_‘|| oo

Practice 2

1. by studying abroad

3. serious social problems

5. be ensured by companies

7. To accommodate, are available

A16 M TOEFL SPEAKING

2. for students wishing to
4. advances being made in science
6. further threatens

‘B Q152014 0j2k= B0= SO F0Z Bt sHH0| sheio] AX o] Z2 Hrt o WOl SRS HE Qn[Sith B2 AlR2 & 0
20|40 0|2 CHStol M 2 2XI2 01A4ZICH oIS S04, 1890 SHHE= CHEtOIA ChatAio| Tt SIE (GPA)= 2.270I9UCt. 2008E =0l= &t 2t 55
22} 3.480] EIUCH 25E0| sHES0] 18900 SMSHIH #W O £Estn HAsiCin B[ of2{YM, T2IIE2 85 42 Holl & 71&
202t 2Cf,
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The platypus is widely considered one of the most bizarre animals on earth. It is a mammal, and it has certain

typical mammalian characteristics, including fur and four legs with claws on them. However, platypuses share
other traits with birds and reptiles. They lay eggs instead of giving birth to live young. They have beaks similar to
those of ducks and webbed feet to help them swim. Moreover, unlike most mammals, platypuses are venomous:

the males have claw-like structures on their ankles that can release poison capable of killing small animals.

— The platypus is widely considered one of the most bizarre animals on earth. It is a mammal, and it has certain
characteristics typical of mammals, including fur and four legs with claws on them. However, platypuses share
other traits with birds and reptiles. They lay eggs instead of giving birth to live young. They have beaks similar to
ducks, and webbed feet for swimming. Moreover, unlike most mammals, platypuses are venomous: the males

have claw-like structures on their ankles that can release a poison capable of killing small animals.

oo A A oo

ee|uTel= X7l U= S 5 71 Solstct d2| 64X ot ZRFSS0|1, EHat 2E50| HE Y| 71| Ci2|E ZEet U2 2
B EZZ 7HR|T QUL SHRIZE Q2| 7al= CHE ARt IEEReE £ Lie1 QlTh OS2 M7IE E= il 242 =0t OS2 224 HIRe 2
2|7t 1 2+ Fot=0l =22 F= SEA7E U= Cral7t ALk AL 2RSS R0 g2| 22|4F2|l= S40] AUt A2 L=50| &850t HiXEt
TFRIL A=, 0l &2 SES0 =2 LM FY £ ACt
Practice 3 p.73

1. is dangerous 2. Using

3. numerous/many 4. Thoroughly investigating

5. made a call to 6. for the safety

It can be difficult to tell the difference between the flu and a cold, as some of their symptoms are similar. But the
difference is not insignificant, because colds are not as dangerous as the flu. With the flu, you feel worse than you

would with a cold, and the onset of the symptoms is less gradual. Chills and fever are not as common with a

cold as with the flu. On the other hand, certain symptoms are generally only caused by colds. For example, a sore
throat and sneezing are much rarer with the flu than with a cold.

— |t can be difficult to tell the difference between the flu and a cold, as some of their symptoms are similar. But
the difference is significant, because colds are less serious than the flu. With the flu, you feel worse than you
would with a cold, and the onset of the symptoms is more sudden. Chills and fever are rarer with a cold than with
the flu. On the other hand, certain symptoms are generally only caused by colds. For example, a sore throat and

sneezing are much less common with the flu than with a cold.

oo A A oo
BY0| HiXota2 S2at Z7(9f A0S HOIt=0| 0124 4 UCt. BHXIZ, A7Ii= SUF SIS o47| W20l Xol= AtASHA| 4ot S2of
LS U= 700l 23S 2o of ofzu, Alxfol i & MTIHo|Ct, driet 2 SHOMRE Z7[01M E6tX] ot 0|, LR So2 L

o2 27I8t0| JHH2C, ofE S0, 20| 0L JIH2 St XS 2 |Lct S2olM B4 S0,
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Review

1. People in every country are affected by the threat of terrorism.
Every country in the world is affected by terrorism.

2. Many industries place great importance on finding alternative energy sources.
Alternative forms of energy are being explored by many different industries.

Industries searching for new forms of energy have made it a great priority.

3. The registrar’s office asks all students to submit emergency contact information.
Emergency contact information for each student must be given to the registrar’s office.
The registrar’s office requires emergency contact information for each student.

4. Supermarkets are starting to carry more genetically modified foods.

Something more commonly seen in supermarkets these days is genetically modified foods.

Genetically modified foods are frequently found in supermarkets nowadays.

A18  mTOEFL SPEAKING



part G ==

Summarizing

Practice 1 p.79

E.g.

SR EX R

Hol 22 7HY SYR0| M2 A S St XY, B2 HIEID} 0|WE, 32|17 HMAS peEn 228 RE 4 Of0|=ME MSSHELL. To|
OIES Stz HF MHS2 Al EXtet Hid|, 0= A4 St Ao|C}; A2t =EXk= £5] SYR0| SOt LEXKE ofo|=Me| g 79| &7
[e]

1. When adults talk to babies, they often use a special form of speech called “baby talk.” In baby talk, people speak
in a higher voice and use shorter, simpler words than they normally do. Research has found that baby talk serves a
useful purpose. Babies actually seem to like it better than normal speech, so it gets their attention more effectively.
Thus, it may help babies begin to learn the basic structure of their language.
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— Baby talk is a special kind of speech that may help babies learn language.

2. Robin Hood has been a legendary character in English folk tales and poems since the Middle Ages. The
character was described in various ways over the centuries, but the most influential portrayal can be found in Sir
Walter Scott’s 1819 novel Ivanhoe. In the novel, Robin Hood is a cheerful, brave, and generous hero who uses his

skill with a bow to steal from the rich and give to the poor. And this is how the authors, filmmakers, and the public
have imagined Robin Hood ever since.
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— lvanhoe’s depiction of Robin Hood as an outlaw hero is the general public’s portrayal of the character.

1. When asked to name a highly intelligent animal, not many people would think of the crow. But crows are one of
the few animals that make and use tools, including “knives” shaped out of stiff leaves or blades of grass. They also
have learned to drop nuts onto the street and wait for passing cars to break them open. For these reasons, crows

are considered the most intelligent of birds.
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— Certain behaviors of the crow show it to be a highly intelligent animal.

2. Investing in stocks has both an upside and a downside. In many cases, individual investors can make more

money from owning stocks than they would if they simply kept their savings in the bank. However, the stock market
is riskier than many other types of investments. If a stock goes down in value, its owners lose part or all of their
investment. And unlike bank deposits, investments in stocks are not insured.
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— The advantage of investing in stocks is that a person can make more money from them than from bank

deposits, while their disadvantage is that they are risky.

3.  Should babies watch TV, or is it bad for them? Research has shown that a baby’s first two years are the fastest
period of brain development, and that babies’ brains develop best through interaction with real people. That means
that the more an infant watches TV, the less beneficial interaction he or she is experiencing. For this reason, children

probably should not watch TV until they are at least two years old.
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— Children under two should not watch television because it might have a negative effect on their brain

development.
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— Drinking bottled water is a bad idea because it causes pollution and is a waste of money.
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— Two theories about dreams exist— one is that they prepare us for everyday difficulties and another is

that they are for organizing our memories.
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— Little is known for certain about ball lightning because descriptions are based solely on reported

sightings rather than scientific observations.
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— Two arguments for stricter Internet regulation are online crime and cyber-bullying.
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— The discovery of a vaccine for paralytic poliomyelitis was the cause for great celebration.
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— Canada’s Thanksgiving is a celebration of Martin Frobisher’s successful voyage to Canada’s Arctic
region.

— Contrary to general belief, students’ college majors do not usually determine their careers for the rest of
their life.
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— Although painful, inflammation actually signifies the beginning of the healing process.
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— Water vapor is the most important greenhouse gas, as it doubles or even triples the warming effects of
carbon dioxide.
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— Research on green tea shows that it prevents cancer and reduces the risk of heart disease.
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— Two advantages of the parliamentary system are that it makes passing laws easier and that it places
more liability on the party in power.

Review p.85
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— Students are not allowed in the gymnasium without a pass from a teacher.
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— “Casual clothes day” should be allowed, and students should be free to wear what they want.
3.
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— A major coping strategy that people use to deal with bad news is delaying total acceptance.
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Note-taking

A24 M TOEFL SPEAKING

lls for Reading p.88

2. ancient Egy statue 1 stone
3. animals @ { ocean: x eyes b/c too dark to see
4. fruit flies x quickly, .", good 4 rsrch
5. Hadrian’s Wall = Rom Emp, to prvnt Brit invasion
6. Yoga «— India
7. 18t Olympc — 1 sprt; now — many
8. Mt. Everest: most T & dffclt to climb
1.
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Homing pigeons: carry msgs
- always (3) to nest
- since 12th c: deliver msgs
- WWII: both sides used; 1 pign got bravery med
- 1 news agency start w/ pgns
2.
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Inuit: indig ppl in north CAN, US, SIB, G-LAND

- | cond .". distnctv lifestyle
hunt/eat: walrus, caribou, whale
bones/hides: clothes, shelter, etc.

Note-taking Skills for Listening p.91

E.g.
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® e |istening Script ®*

M: This is outrageous! Have you heard about the new bag-checking policy in the library?

W: No, but | have a feeling you’re gonna tell me about it.

M: Well, every time we leave the library, our bags have to go through an X-ray machine. It's to prevent theft.

W: Hmm ... that’s a good idea. Books “disappear” all the time. | think the university lost something like two thousand
dollars’ worth of books last year.

M: Yeah, but I'm not the one stealing them. Why should | be treated like a thief?

W: Because that’s the kind of world we live in ... people just aren’t as trustworthy as they should be.

M: OK, OK, but it’'s a violation of my privacy, you know? Anyone looking at the X-ray monitor will see what’s in my
bag.

W:What are you carrying in there that’s so top-secret, anyway?
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Library checking Ss bags w/ X-ray

- books disappear — prevent theft
- W: ppl x trustworthy
- man angry - he x steal; prvcy violation

2.

® Listening Script

W: Oh, they’ve got to be kidding.

M: What are you talking about?

W: The administration has decided everyone has to have at least two math credits before they graduate.

M: So, what’s so bad about that?

W: Nothing, if you're good at math or have an interest in it. I'm neither good at it nor interested in it. There are other
classes I'd rather take.

M: | can see your point, but you can’t deny that math is pretty important.

W: Absolutely it is. That’s why | bought the most expensive calculator | could find in the school bookstore.

M: Well, | think it’s a good idea. The administration just wants to make sure we have the skills we need out there in
the world. If this is the only way they can get people to take math, | guess that’s what they have to do.
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Admin: to grad — every1 2 math creds

- W: x like math, rather take other clss
- M: math imp
- admin: make sure Ss have necessry skills

e Listening Script ®

OK, so today we’re going to talk about the nervous system. The nervous system is essentially your body’s control
center. It's made up of your organs, tissues, and cells, and regulates the body’s response mechanisms. Part of the
nervous system, uh, your automatic nervous system, controls all your organs and activities like breathing. So, your
automatic nervous system generally decides how your body is going to handle any given situation. Uh ... so, imagine
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you’re walking along, and you unexpectedly come across a hideous and scary monster. Your heart speeds up and
your blood pressure increases — your nervous system is preparing your body to either fight the monster or run as
fast as you can in the other direction. This response, known as “fight or flight,” is one of the functions of the nervous
system. It prepares your body to respond in either one way or another.
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Nervous system = body’s control cent — organs, tissues, cells

- reg body’s response mechnsm
- contrl organs, breathing, how body reacts
- scary monster — systm prepares body: fight/flight

2.

® Listening Script

All scorpions have toxic venom. A pretty common characteristic of scorpion venom is that it causes paralysis in
mere minutes. It's pretty powerful stuff. Scorpions mainly use their venom to paralyze or kill their prey, but of course
they won’t think twice about using it against predators. Luckily for us, scorpion venom is designed to be most
effective on the insects and spiders that make up a scorpion’s diet. A human stung by a scorpion will usually
be fine — you know, he’ll feel a bit of pain or swelling, but nothing more serious than that. There is one species of
scorpion whose venom is fatal to humans, but again, most of you have nothing to worry about. Unless you're allergic
to scorpion venom, or are already weak from illness, the venom’s not strong enough to have a deadly affect on you.
Scorpions generally will not attack people unless they feel threatened themselves.
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Scorpions — toxic ven

- use ven to paralyze prey
- ven ok for humans (unless allergic/weak)
- scorp x attack unless feel threat
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1 populations of dolphs

Tuna fishing

- fishermen use dolphs (dolphs around tuna)

- see dolphs — lower nets — nets injure & kills dolphs
Pollution

- dolph’s sudden death «— PCB poisoning

- making plastic: chemicals — enter water — kill dolphs

® e |istening Script

OK, today we are going to talk about the declining populations of dolphins and some of the ways that we can
help stop these declines.

As you already know, the tuna fishing industry is largely responsible for the decline in dolphin populations. But in
recent years, the tuna fishing industry has taken steps to fix this problem. Many supermarkets now only sell what
is called “dolphin-safe” tuna. Uh ... what that means that no dolphins were killed while catching the tuna. To get a
dolphin-safe certification, a tuna fisherman must do a number of things. First, the fisherman must use different nets
that are less likely to injure dolphins. Second, the fisherman must have an observer on board his boat when he goes
tuna fishing. The observer watches to make sure that no dolphins are killed. Tuna fishermen are encouraged to do
all this because the dolphin-safe certification makes it easier for them to sell their fish. It has been estimated that this
system has reduced dolphin deaths by 97%.

Another change that has taken place in recent years is that governments have placed tighter controls on
companies that make plastics. Those companies are no longer allowed to build factories nears the water, and they
have to take special steps to make sure than no PCBs get released into the oceans. This has helped reduce the
number of deaths caused by PCB poisoning.
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Efforts to stop | dolph pop

Tuna fishing industry

- supermarket: sell dolphin-safe tuna

- fishermen: get dolph-safe certif(@ use diff net 2 have observer on boat)
—» easier to sell fish & dolph death | 97%

Govt controls on plastic co.

- can’t bld factory near water

- x PCBs into ocean
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part D ==

Fit and Explain

+ Sample Question p.102
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® e |istening Script

M: Hi, Maria. Did you hear about the new food policy?

W: The one that says we can only eat in the cafeteria? Yeah, it's a bad idea.

M: Really? But it’s true that there’s a lot of garbage everywhere.

W: Sure, but just because some people can’t be bothered to throw their trash out properly, do we all have to suffer?

M: Suffer? That's a bit much, wouldn’t you say? No one’s gonna suffer.

W: Well, maybe not, but it’s inconvenient. | don’t always have time to go to the cafeteria. What if | want a snack
between classes? | can’t run to the cafeteria, eat something and then get to my next class on time. It's
impossible.

M: Yeah, | guess that would be difficult.

W: No, not difficult. Impossible. Also, the cafeteria’s always so crowded and noisy. Sometimes | do homework or
study while I'm eating. | usually just sit by my locker because it’s quiet. | won’t be able to do that anymore.

M: | see what you mean. The cafeteria is pretty crazy at lunch time.

oo Script A1 e e

1 oHd, of2jof. 4 M2 S4lE Sl theh SAULI?
D WU AP MEE HE 4 Uk O LOIL? S

D ™AU? SEXITH 47K 7(off M7 |7t HE 4 AMAO|ROL

. 220|0f, SFX|2F X}7| M2f|7|E MHE XM2[6HK] Zote R ARE MR 257t 1S HHotof st ?

D DS E=0in? J7 U ASiCH X L7 OfRE 11E BHE AR Gl

s a2, JEX| 42 = X, SFX[TH 2HSIEOL LH7F mL Aol & Al oLzt #4= AlZHol| ZHAIS ST MCHH O{WX|? WLl 4]

4 o U=
S| 227IN BIIE Hu =, O Sl MAIZHol| =2 4= glol. a2 27kssH.

g

§§§§§§

=
|
=2
N

78S 7 2t

=
k=)
)
oo
mn Y
N
my
rlo
>
k=)
)
o
T
_\,'_
2.:
|.,.|
Jt
on
rlo
mr
I
=
I_
>
]
o
iu}
K
c

f {2 HoMAM IHME StAL S

L
ro

o Zolof. F= 1 L A

4

Practice 1 p.106
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® Listening Script

W: How about that announcement saying we have to get a doctor’s note or the principal’s permission if we're gonna
be absent?

M: They’ve got to be kidding. There’s no way that’s gonna work.

W: You don’t think?

M: Well, first of all, who goes to the doctor when they’re sick? | mean, unless you're really, truly ill, you just stay home
and rest until you feel better, right?

W: Yeah, that’s what | do.

M: Same here. Besides, my doctor charges twenty bucks for a note. That’s kind of expensive, don’t you think?

W: Yeah. | doubt my parents would pay twenty bucks for a note that says I'm not feeling well.

M: And having to get the principal’s permission to miss school for non-medical reasons is ridiculous. It’s none of
anyone’s business why I'm missing school.

W: Yeah. It’s kind of an invasion of privacy, isn’t it?

M: Exactly. Whenever | miss school my parents know about it. So if it's OK with them, it doesn’t matter what the

school thinks.
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Topic New absence policy
Reason To prevent Ss’ absence T
Details - show Dr.’s note

- non-medical reasons
— submit request to principal

Word tip
discourage: XHA|I7|Ct  take effect: A[ME|Ct, S2HS wHSICtH
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Lis-(-u\ir\g Notes

Opinion Disagree

Reason 1 Usually x see doctor when sick

Details Dr’s Note = expnsv

Reason 2 x school’s business

Details miss school — parents know
Word tip

buck: &2{(£0{) ridiculous: AL  invasion: 2l A5l privacy: APMEH Zajo|HA|

® e Sample Response ® ¢
Main idea of reading: According to the announcement, the school wants to reduce the number of student
absences by making it more difficult for students to miss school.

Main student’s opinion: The man disagrees with the policy requiring students to get a doctor’s note or get
permission to be absent.
Reason 1: He says that he never goes to the doctor when he’s sick.

Details: Doctor’s notes are very expensive, so he usually just rests at home.
Reason 2: He also says that it's none of the school’s business if he has to be absent for non-medical reasons.
Details: He thinks if his parents say it's okay, he doesn’t need the school’s permission.

Practice 2 p.108
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® e |istening Script

W: Wow. What a crank!

M: Who'’s a crank?

W: Whoever sent this letter to the paper complaining about the junk food in the cafeteria.

M: No way. | totally agree with him. Pretty much everything on the cafeteria menu is deep-fried or full of sugar.

W: So? That's what people want to eat. | mean, you have to admit fries and soda taste better than broccoli and
water.

M: That’s so not true. Healthy food doesn’t have to be boring. There are lots of delicious ways to cook vegetables.
Plus, they could still serve chicken and stuff. They could just prepare it differently.

W: Whatever. | think I'll stick to pizza and cola. Besides, it’s not like we have a choice. Since we can’t leave the
school grounds at lunch, we have to eat whatever the cafeteria serves.

M: That's even more reason to change the menu. Since the school is pretty much choosing our food for us, doesn’t it
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make sense for them to choose nutritious foods? | mean, do you really think teachers want to deal with kids who
are all loaded up with sugar?
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Reading Notes

Topic Complain abt unhealthy caf food
Reason Unhealthy food — overweight kids
Details - need to encrg healthy eating habits
Word tip
imaginable: 448t 4 9l=  processed: 7l2%  eating habit: Algat

Listening Notes

Opinion Agree
Reason 1 Healthy food: x boring

Details - can prepare vgtbls in delicious way
Reason 2  Ss: x choice for lunch
Details - serve nutritious fd

- cook in healthy way

Word tip
crank: oW}, 7ICI2E AtzH&01)
loaded up with: ~22 75 2t
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junk food: 7Zofl £X| %2 241, IAE Z=  nutritious: YYL0| ¥

® Sample Response ®
Main idea of reading: According to the letter to the editor, the cafeteria serves too much unhealthy food.
Main student’s opinion: The man agrees with the letter which says the school should not serve junk food in the

cafeteria.

Reason 1: He says that healthy food doesn’t have to taste boring.

Details: He says there are many ways to prepare vegetables so they taste delicious.

Reason 2: He also mentions that students don’t have a choice at what they eat.

Details: Since they have no choice, the school should serve them nutritious food. He also says that the cafeteria
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can still serve chicken and other foods kid like. These foods can be prepared in healthy ways.

Practice 3 p.110
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® e |istening Script ®*

W: | can’t believe they’re cutting off our email access.

M: Well, they don’t have any choice. Viruses are a problem, and new computers are expensive.

W: Yeah, but | don’t have a computer at home. How am | supposed to email people?

M: Go to an Internet café. Or, the public library has free Internet access.

W: But that’s so inconvenient. | mean, | spend most of my time at school.

M: | know, but the school is always short of money. If they can’t afford to replace the infected computers, we’ll just
have to do without.

W: Well, maybe the school needs to get better anti-virus protection.

M: I'm sure the school has the best anti-virus program out there. But even the best program can’t detect every virus.

W: What are you talking about?

M: People create new viruses all the time. Millions of computers are infected before the anti-virus program is updated
to protect against the new virus. So even if the school has the best program, new viruses are still a problem.
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Topic X access to email in computer lab
Reason Virus infection
Details - replacing comp = expnsv
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Word tip

email account: 0|HY A be infected by: ~0f olsf Z=lct  attachment: 8 technician: 7|&xt
as of: ~EE, ~2 A|Zto2  inconvenience: £

Listening Notes

Opinion Agree

Reason 1 x afford to replace comps

Details - .. study w/o comp

Reason 2 Updated anti-virus program

Details - new viruses are created first
Word tip

short of: ~0| &5t  do without: ¢i0| X|LiC}  detect: ZX|stCt

® e Sample Response ®

Main idea of reading: According to the announcement, students will not be allowed to check their email in the
computer lab.

Main student’s opinion: The man agrees with the computer lab’s new policy.

Reason 1: He says that since the school doesn’t have a lot of money, it might not be able to buy more computers.
Details: If the school can’t replace infected computers, the students will have to do without them.

Reason 2: He also says that even the best anti-virus programs cannot protect computers against every virus.
Details: He says that new viruses are created all the time, and it takes a while for anti-virus programs to be updated.
Computers can get infected before the anti-virus program is updated.
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® e |istening Script ®*

M: Did you see this letter about the cafeteria’s new tax? This guy is really ticked off.

W: He needs to rethink his opinion. | think it’s a great idea.

M: You want to pay more for your lunch?

W: Not really. But think about all the garbage created by food packaging. It must be millions of tons a year.

M: Uh-huh? And your point is?

W: My point is someone has to pay to get rid of it. All that trash doesn’t disappear into thin air, you know.

M: | thought the city paid for disposal and recycling.

W: For part of it, but waste disposal is expensive. Also, if people have to pay extra for take-out, maybe they’ll eat in
the cafeteria, using real plates and forks and stuff. That’ll cut down on garbage.
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M: I never thought of it that way. All those paper plates and plastic forks ...
W: | think it's great the cafeteria is taking responsibility for all the garbage it creates. | doubt people will mind paying
an extra twenty cents for their food.
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® e Sample Response ® ¢

The woman disagrees with the opinion expressed in the letter. She strongly believes that the cafeteria’s
environmental tax is a good idea. She says that the money is needed to properly dispose of all the garbage
created by the food wrappers and packaging. She points out that waste disposal costs a lot. She also says that if
people have to pay more for take-out food, probably they’ll just eat in the cafeteria instead. That way, they won't
need paper plates and plastic forks. She believes the tax will help reduce the garbage created by the cafeteria.

Say It Right p.113
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. X (We were all surprised at the news that Alex is already back in town.)
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part D ==

General / Specific

+ Sample Question p.118
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® e |istening Script ®*

Today, we are going to talk about one company that has found an interesting way to keep its employees happy.
The company has started a number of programs to improve the lifestyles of its employees.

Uh, for example, the company built a health club in the basement of its office. Membership in the health club is
free for all employees, and it is open 24 hours a day. This is actually pretty clever, because when employees come
into the office early in the morning to use the exercise machines, they usually start work earlier as well. So the health
club not only keeps the employees happy, but also encourages them to work harder.

Uh, the company also bought a house by the ocean. Each employee is allowed to use the beach house one week
each year. This is great for the employees because usually, renting a beach house for a vacation is pretty expensive.
It is also good for the company because since each employee uses the beach house during a different week, it
ensures that not all of the employees take their vacation at the same time.
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® Listening Script

In order to learn a language, children have to be exposed to it. Children must hear people speaking the language,
so they can build up their own vocabulary. They learn words by listening to what their parents say, but they don’t
just repeat those words in the same order all the time. Imitation is important, but it’s not the only factor involved in
language learning. Children begin to understand how to use words and grammar to make sentences and say things
they haven’t heard before. This happens naturally, without anyone teaching them specific word combinations or
grammar rules.

The ages between two and six are the most important in language development. After the age of twelve, a child’s
brain structure has changed so much that learning a language becomes more difficult. Um, linguists have studied
people who had no human contact when they were children. At first, these people could not talk at all and had a lot
of difficulty learning even simple words. Their speech development was slow, and they could not understand or use

basic grammatical structures.
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M!\g Notes

Topic Learning lang
Details - chidrn: inborn lang ability
- need to Istn to learn

Word tip
foundation: 7|2, Etf  be surrounded by: ~0f S2{Mo|ct

Listening Notes

Example 1 chldrn & parents
Details - undrstnd how to use > imitation

- vocab & grammar naturally
Example 2 Age 2-6 important for lang dvipment
Details - no human contact

— slow speech dvlpmnt

Word tip
expose: ==A|7|ct  linguist: ¢1o{&tx}
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* e Sample Response ® ®

Tie sentence/Topic: According to the professor, young children must be surrounded by speech at a young age
in order to learn a language, as mentioned in the reading.

Example 1: The professor gives an example of language development by talking about how children imitate the
words their parents use.

Details: He explains that although children copy what their parents say to learn, that isn’t all. He also says that
children learn words and grammar naturally without being taught. This relates to the idea in the reading that
humans have a natural ability to learn language.

Example 2: The professor also mentions the importance of learning language between two and six years of age.
Details: Scientists studied children who had not been surrounded by language when they were babies. They
found it difficult to learn language. This is a good example of why it is necessary for children to be exposed to

language at a young age.

Practice 2 p.124
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® e |istening Script

Have you ever noticed that some of the world’s continents seem to fit together like a puzzle? Particularly, the
eastern coast of South America and the western coast of Africa seem to fit together. This is not a coincidence.
South America and Africa were once part of the same land mass. Actually, all the continents were once part of
a supercontinent called Pangaea. The way that South America and Africa fit together is not the only piece of
evidence proving that Pangaea once existed. Uh, maybe you have noticed that many plants and animals on different
continents are surprisingly similar to each other. This would only be possible if the earth once had one solid land
mass. Pangaea existed from around 300 to 200 million years ago, when it began to break up and form the separate
continents we know today. Pangaea was not the only supercontinent in the earth’s history. Over the 4.5 billion years
the earth has existed, several supercontinents have formed and broken up.
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Reading Notes

Topic Earth’s surface = many separate pcs
Details - tectonic plates: alwys moving
- plate movement: continental drft

Word tip
molten core: sliE 4!, st drift: 0|5 landmasses: Z&tst &

Listening Notes

Example 1 Continents fit together
Details - Africa & S. America

Example 2 = plants & animls on diff continents
Details - only poss if earth 1 piece
e.g. Pangaea form 300 ml yrs ago

— break 200 ml yrs ago

Word tip
continent: thg  coincidence: (2¢19]) Ux|

* e Sample Response ® ®

Tie sentence/Topic: According to the professor, millions of years ago all of the world’s land fit together like a
puzzle, forming a supercontinent called Pangaea.

Example 1: As evidence of this, the professor says that continents seem to fit together.

Details: In particular, Africa and South America were actually part of the same land mass at one point.

Example 2: Another example the professor uses is that many similar species can be found in different parts of the

world, which would not be possible if the continents had always been separate.

Details: The professor says that Pangaea formed almost 300 million years ago and broke up 200 million years

ago. This directly related to the concept of continental drift, in which the continents slowly move as they float on

the earth’s surface.

Practice 3 Rl
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® e |istening Script

When many people buy a car, they spend far more than they originally planned on spending. This is because
most people decide what car they will buy based on the advertised price of the car. This price, however, is not what
they actually end up paying for the car. There are a number of fees that are not included in the sticker price of the
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car. Uh, for example, you have to pay a transportation fee. That’s the fee to bring the car from the factory to the car
dealership. Since you can’t go buy a car at the factory, this is not an optional expense. You have to pay it, but the
transportation fee isn’t included in the sticker price of the car. Another reason that cars are actually more expensive
than their sticker price is that the sticker price doesn’t include options. Things like a radio and air conditioning are
considered optional features on a car, and you have to pay more for them. But everyone wants a radio and air
conditioning in their car, so they end up paying more than they planned on for their car.
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Reading Notes
Topic Advertise product @ lower cost
Details - necessary service: cost x included

- features/options: x included

Word tip

advertise: sl feature: EZ option: Mef Akt calculate: AAGICH APESICH

Listening Notes

Example 1 Transportation fee

Details - bring car from fctry to car dealership
- x optional fee

Example 2 Options

Details e.g. radio, air conditioning

- people want, .". they pay

Word tip
sticker price: #A| 7t car dealership: XISk} Ttof chz| &

® Sample Response ®

Tie sentence/Topic: The professor explains why buying a car is often more expensive than people expect.
According to the professor, the sticker price of a car does not include all the charges for the car.

Example 1: The professor mentions transportation fees to illustrate hidden costs.

Details: People have to pay a fee for the car to be brought from the factory to the car dealership. The fee has to
be paid, and it is not included in the price.

Example 2: Another example of hidden costs is optional extras such as a radio and air conditioning that are not
included in the advertised price.

Details: People want these things, so they pay more money for them. These are both good examples of hidden
costs, which are discussed in the reading.
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iBT Practice p.128
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® e |istening Script ¢

When people travel, they expect problems because they don’t know the language of the country they are traveling
to. So instead, most people try to communicate through gestures when they travel. This, however, can also cause
problems because a person’s gestures may send a different message than the message he actually wants to send.
Well, here’s a good example: Americans make a circle with their thumb and index finger to indicate that everything is
OK. In Europe, this same gesture is somewhat offensive, and in South America, it is considered very insulting. So an
American who wanted to tell a South American waiter that his food was good would actually be insulting the waiter.

Uh, making eye contact can also cause problems when people travel. Western cultures encourage eye contact.
Westerners consider it to be a sign of honesty and interest. In Asian cultures, direct eye contact may be interpreted
as a sign of disrespect or aggression.
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® e Sample Response ® ¢

The lecture is mainly about how body language can have different meaning in other cultures. According to the
professor, many people get into trouble when they travel overseas because they use gestures to communicate.
The first example of a gesture discussed by the professor is that Westerners make a circle with their thumb
and forefinger to mean “OK.” In Europe and South America, it is an insulting and rude gesture. The second
example the professor presents is the use of eye contact, which shows honesty in Western cultures but shows
aggression and disrespect in Asia. These are two strong examples that demonstrate that while some nonverbal
communication is universal, it is often culturally specific.
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Say It Right p.129

1. for 2. about
3. about 4, of

5. 1in 6. for

2. wrong with 3. aware of
4, different from 5. tired of

6. disappointed with
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Part D

Problem / Solution

+ Sample Question p.134

Listening Script

W(librarian): Hi, can | help you?
M(student): Well, | kind of lost a book.
W:

What do you mean, “kind of”? Did you lose it or didn’t you?

: Yeah. | did. Is that OK?

: Of course it’'s not OK. Books are expensive, you know.

M
wW
M: | guess so. The book is The Ancient World through Modern Eyes.
W:
M
W

That particular book is very expensive. You're going to have to pay for it, I'm sorry to say.

: Really? But | don’t have any money.

: Believe it or not, the library is not the school’s top financial priority. If a student loses a book, he pays for it.
Can your parents loan you the money?

M: | can’t tell them. They’d be really angry.

W:

M: No, please. You don’t understand — they’ll kill me.
W:
M:
W:

Look, it's going to cost us at least a hundred dollars to replace this book. You better talk to your parents.

Well, there is another option ...
What? I'll do anything.
You could work at the library until you earn enough money to replace the book.
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Practice 1 Rald

® e |istening Script

W: Mr. Wilson. Can | talk to you for a minute?

M: Sure, Lisa. What’s going on?

W: Well, I’'m in charge of planning the year-end party for the drama club, and | don’t know where to hold it. | need
a place that is large enough for about thirty people, and | need it for the last Saturday in December, but every
restaurant I've called is already booked solid for that night.

M: Yeah, it’s hard to reserve a place during the holiday season. Hmmm, let’s see, uh, how about a hotel? Sometimes
hotels have meeting centers. Maybe you could reserve a meeting center and ask the hotel to prepare some food
for you. It might cost more than reserving a restaurant, but it would probably be easier to get a reservation.

W: Yeah, | hadn’t thought of that.

M: Or if you want to save money, maybe you could have your party in the school auditorium. If you talked to the
principal, I'm sure he would give you permission. The only thing is that you and the other members would have to
prepare your own food, and you would have to clean up after the party.
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Problem Finding place for drama club party
Solution 1 Hotel meeting cent
- ask to prepare food

- cost 7, easier to book
Solution 2 School auditorium

- save money

- prepare food & clean up
Opinion School theater

- Ss x have much $

- fun preparing sth

Word tip
reserve: 02f5ICH  permission: &2t
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* e Sample Response ® ®

Problem: The woman’s problem is that she doesn’t know where to have the party for her club.

Solutions: The teacher suggests that she should either reserve a meeting center at a hotel or ask the principal if
she can have the party in the school auditorium.

Opinion: | think she should ask the principal to let her have the party in the auditorium. Renting a hotel sounds
like it would be really expensive and she’s just a student. Her club probably doesn’t have a lot of money to spend.
Plus, if they have it in the auditorium, they can bring their own food. | think parties are more fun when everyone

has something to prepare for the party.

Practice 2 p.138

® e |istening Script ®*

W: Jake, | wanted to talk to you about last week’s math test. You know that your test scores are worth eighty percent
of your final grade, right?

M: Sure, Ms. Bennet. You explained that to us. Uh, was there a problem with my test?

W: Well, it looks like you’ve misunderstood all the formulas we’ve studied in this unit. You didn’t get a single question

right.
M: Really? I’'ve been having some trouble lately, but | studied pretty hard for this test. | wasn’t expecting to do great,

but | thought | did okay.

W: You've been doing pretty well so far, and | don’t want this test to ruin your final grade. Why don’t you come in
after school today for a make-up test?

M: | don’t know if I'd do any better the second time. | get really stressed when | see all those numbers and formulas.
It's like my brain shuts down and | can’t think.

W: In that case, why don’t you write a report for me? Write about the formulas we studied last week.

M: That might be easier than redoing the test. But it would take longer, and I’'m really busy this week. Can | think

about it and let you know later today?
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Lis-(-u\ir\g Notes

Problem Wrng answers on math test
Solution 1 Retake test

- might be stressful

- might x do better
Solution 2 Writing report

- busy week
Opinion Writing report

- might not do better

- more time to work

- can research

Word tip
formula: 24! ruin: Zxlct  make-up test: AR

® e Sample Response ® ¢

Problem: The problem is that the student got all the questions wrong on his math test.

Solutions: The teacher suggests that he should either come in after school and take the test again or write a
report about the math formulas they studied.

Opinion: | think he should write the report. As the student says, he probably won’t do any better if he takes

the test again. If he writes the report, he will have more time to work. In addition, he can do some research on the
Internet or in the library, so | think he would have a better chance of improving his grade if he did the report

Practice 3 p.139

® e |istening Script

W: Hey, Larry. Can | ask you a question? | need some advice.

M: Sure. What is it, Sue?

W: You know that Chris sits right behind me in science class, right?

M: Yeah. | know that.

W: Well, every time we have a test in science he cheats. He looks over my shoulder and just copies my answers. |
told him to stop, but he just does it anyway. It really makes me angry. What do you think | should do?

M: Well, if it really makes you angry, | guess you could tell your science teacher about it. If you told your teacher,
Chris would get in trouble for cheating, and I’'m sure he wouldn’t continue to cheat after he got in trouble.

W: Yeah, | thought of that, but | don’t really like to tell on people.

M: | guess you could also just ask the teacher to change your seat. You don’t really have to tell the teacher why you
want to change your seat. Just tell him that you want to be closer to the blackboard or something like that.
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Problem Classmate copies frm student
Solution 1 Tell teacher

- get in trouble — stop

Solution 2 Ask teacher to change seat

- X have to say anything abt cheating

Opinion Tell teacher

- helpful for cheating student

—» realize cheating is wrng & stop

Word tip
cheat: &=t  get in trouble: Zatst KXol =0|ct

* e Sample Response ® ©

Problem: The woman’s problem is that the student who sits behind her looks at her paper when they take tests.
Solutions: The man suggests that she should either tell her teacher or just ask the teacher to move her seat.
Opinion: | think she should tell the teacher about the cheating. If she moves her seat, then the student will just
look at someone else’s paper, so it will be a problem. Plus, telling the teacher would be helpful to the cheating

student in the long run. It would make him realize that cheating is really wrong, and he would stop doing it.

iBT Practice p-140

® e |istening Script

M: Did you understand any of that?

W: What, algebra class?

M: Yeah. | have no idea what Mr. Mitchner’s talking about half the time.

W: Well, things are starting to get a bit complex. | can see how you might be confused.

M: No, I'm not just confused. I’'m totally lost. Like, | don’t get it at all.

W: It's gonna keep getting harder, so you better get on top of it soon. Why don’t you get a peer tutor? The school
can set you up with a senior who's already aced junior algebra.

M: I don’t know. I've had one of those student tutors before. He didn’t seem to know much more than | did.

W: Maybe you’ll get a better one this time. Or, you could come in early and get help from Mr. Mitchner. | know he
usually comes in before homeroom to help students out.
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M: I just show up and he’ll help me?

W: Yeah. Last semester | was having some trouble with algebra, so | used to come in early a couple of times a week.
It really helped.

M: That might work, but I'm not too wild about the idea of coming in early.
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* e Sample Response ® ®

The man’s problem is that he doesn’t understand algebra, and the class is becoming more difficult. The first
solution the woman suggests is to get a peer tutor assigned by the school. Her second suggestion is for the man
to come in early to get help from his teacher. If | were in that situation, | would come in early and have the teacher
help me. The teacher knows more about algebra than a student tutor does. He would also be more concerned
about whether or not | understood what | was doing.

Say It Right p.141

1. small 2. weak

3. easy 4. big

5. stiff 6. heavy

1. sensible enough to recognize 2. so rich that she can afford
3. such a great film 4. too heavy for us to get

5. so strict that we don’t 6. such a fast runner
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part D ==

Summary

+ Sample Question p.146

e e |istening Script ®*

OK, today we’re going to continue to talk about how plants protect themselves from animals. One of the most
important parts that a plant must protect is its leaves. As you know, the leaves of a plant produce the energy that the
plant needs to live. If a plant’s leaves are destroyed, it will eventually die. Therefore, nearly every plant has developed
some method of protecting its leaves from animals.

Oak trees provide one example of how a plant can protect its leaves from animals. Well, the branches of these
trees only start about halfway up the tree. Since most oak trees are forty feet or more, this means that its leaves are
at least twenty feet off the ground. Obviously, that’s too high for most animals to reach. So the oak tree protects its
leaves by simply putting them out of reach of most animals.

Uh, azaleas use a different method of protecting their leaves. Azaleas are small bushes that grow in the eastern
and western parts of the United States. They produce beautiful flowers, and so many people put them in their garden
or keep them as house plants. Azaleas, however, are highly poisonous to animals. The leaves of the azalea plant
contain a toxin which can kill animals if they eat enough of the leaves. Animals in the wild have learned that these
plants are poisonous and avoid their leaves.

oo Script SiA] e
Hl, 25 7% s Al=0] OfEH SSRRE AAZE HSGH=X] 0/0p| HEASUC. A20] 2250k 5t 71 SR8 #&2 5 St YL of
A2 AZ0[ MO | 3

x| 2
k= ol 228t o|UXIS MMEtLTH 2of AlZ0] 9lo] mtu|=|H, Z= FA| GUCh I222 7o 2= AlE2

2iEC ACHA, AR 92 AlZ0 Blot A
2205 U2 BEE 4 s WHS L SeLi

SRS A0| OfEH SBRLE U BESHEXI0 et 3 012 HOEUIT 0] LRl JHxls LiRol ST AISELIC Rl wziie)
S owom G20 0l 40| H0{= KIHOZLE] 20T|E Aof YXIIcH= ol7t BLICH HsH 0= S20| ¥ 4 Yl 52 FOIYLICE 0/

[e]
E'EE*EHE AUS BS5P] Yol ChE WS AISELIC TIHE 0= SRt ME X|GoiM Xi2t= 22 H=YLICH 0152 OfSt2 22 17| i
=0 2 A S0 LEHE Yol A 22X 322 7IFUCH J2iL HEE SSoll7 ofF f58t AlSYUct. TIFHe| 42 Ho| HFE 4* S=
= 5L 4 US =2 Yo S4S ZE6 AUSUTH 0Pl SES= 0| Al20| 50| Utt= As 21 1 ¢S WX YELint

Practice 1 p.149

® e |istening Script ®*

Well, we usually think of volcanoes as being dangerous and destructive, so you might be surprised to learn that
volcanoes help make life on earth possible in many ways. To explain why this is true, I’'m going to talk to you about
two kinds of volcanic activity: uh, normal land volcanoes and a kind of underwater volcanic activity called a deep sea
vent.

When a volcano erupts on land, it blows huge amounts of ash and dust into the air. Most of that ash comes from
deep within the earth and is high in minerals and other nutrients. When that ash finally settles back on the ground, it
acts as a natural fertilizer and makes the soil better for plants. In fact, some of the most productive farm areas in the
world are places with high volcanic activity.
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Um, volcanic activity deep under the sea also helps make life on earth possible. Deep at the bottom of the oceans,
there are cracks in the earth’s crust called vents. Lava and gases pour out of these cracks. Like the ash emitted from
a volcano, the lava and gas that come out of these vents are high in minerals. These minerals feed a number of sea

creatures, which are in turn eaten by larger sea creatures. Thus, these deep sea vents are an important part of the
ocean food chain
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Listening Notes
Topic Volca — life on earth poss
Example 1 Volca on land Example 2 Deep sea vents
- ash & dust: have minrls & nutrnts - lava & gases «— vent: T in minrls
— help plants grow - feed sea creatures
- imp for ocean food chain
Word tip

destructive: mtn|=ol  erupt: (AR So|) 2&sict  fertilizer: H|2  crust: X|ZH(3hEg)

® e Sample Response ®

Topic: In the lecture, the professor explains how volcanic activity can be helpful to life.
Example 1: The first example the professor gives is a volcano on land. According to the professor, volcano

eruptions blow lots of dust and ash into the air. This ash has many minerals and nutrients, so when it settles, it
helps plants grow.

Example 2: The second example the professor gives is deep sea vents, which produce a kind of underwater
volcanic activity. The lava and gas that come out of these vents are also high in minerals. Some sea animals eat
these minerals, and then those sea animals are eaten by other animals. According to the professor, deep sea
vents are an important part of the food chain in the ocean.

Practice 2 p.150

® e |istening Script ® ¢

One challenge for any company is to keep its production costs as low as possible. If it costs too much to make a
product, the company will not be able to make much of a profit when it sells the product. Therefore, companies have
developed a number of methods of reducing their production costs.
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One method of reducing production costs is to outsource some or all of the design work for a product. In
outsourcing, a company contracts with another company to do part of its work. The advantage is that outsourcing is
sometimes cheaper than having the company’s own employees do the work. Uh, for example, let’s say an American
computer company is producing a new computer. It may contract with an outsourcing company in India to design
some of the parts of the computer. Since salaries are much lower in India than in the United States, the outsourcing
company can do the design work more cheaply than the American company can.

Another method of reducing production costs is, uh, to open overseas factories. For example, many clothing
companies operate factories in Southern Asia. This is different from outsourcing because the people who work in
the factories work for the clothing company, not an outsourcing company. But since the factory is in Southern Asia

instead of the US, the company can pay lower salaries to its workers.
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Listening Notes

Topic Way to reduce production costs
Example 1 Outsrcing Example 2 Overseas fctry
- contract to do part of wrk e.g. clothing co in S.Asia
e.g. U.S. co — outsrc to India - | salaries

- . | salaries = design work cheaply

Word tip
contract: Altsict  operate: ZAYSICt

® Sample Response ®
Topic: According to the professor, companies can do a number of things to reduce their production costs.
Example 1: One thing the professor mentions is outsourcing work. He uses the example of an American

company that hires an Indian company to design some of the parts for its computer. Since salaries are much
lower in India than in the US, the Indian company can do the work for less money.
Example 2: The professor also says that companies can lower their costs by opening factories overseas. This

is different than outsourcing because the factory workers are employees of the US company. But since the

factory is in another country, the company can pay the workers less money.
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Practice 3 _V

® e |istening Script ¢

Generally, nocturnal predators, uh, animals that hunt at night, have very good eyesight. But when it is completely
dark, even very good eyesight is not good enough. As a result, most of these animals have developed other senses
to help them catch their prey in the dark.

One example of this would be owls. Owls have an extremely well-developed sense of hearing. Owls can hear the
movement of even the smallest animals from, um ... hundreds of yards away. More importantly, owls can tell exactly
what direction a sound is coming from. Their ears are not at the same height on their heads. An owl’s right ear is
higher and is better for hearing sounds from above. Its left ear is lower and hears sounds from below. Owls can tell
exactly when a sound reaches each ear. When the sound reaches the owl’s two ears at exactly the same time, the
owl knows the animal is directly in front of it.

Cats have also developed senses to help them hunt in the dark. A cat’s whiskers have an excellent sense of
touch. In fact, a cat can feel the softest breeze that blows across its whiskers. Cats use this excellent sense of touch
to help them move about in the dark and hunt more effectively. If a cat’s whiskers are damaged, it will have trouble
moving around and hunting. The cat might not be able to catch or kill the animal it is hunting.
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Listening Notes
Topic Nocturnal predators
Example 1 Owils Example 2 Cats
- good hearing - excellent touch sense: whiskers
- sense direction by sound - move & hunt effectively
- dmge — dffclt to move & hunt in dark

Word tip
prey: Ho|  whisker: £%

® e Sample Response ® ¢

Topic: The professor gives two examples of animals that have developed senses other than sight to help them
hunt at night.

Example 1: The first example he gives is owls. They have excellent hearing, and can hear an animal that is very
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far away. They can also tell where the animal is by listening to its movements.
Example 2: The second example the professor gives is cats. Cats use their whiskers to help them hunt at night.

A cat’s whiskers are very sensitive and can feel even a soft wind. In fact, if a cat’s whiskers are damaged, it will be
difficult for them to move and hunt during nighttime.

iBT Practice p.152

* e |istening Script ®*

Well, as you may know, life was extremely difficult for the first colonists who came from England to America. In
fact, many of the early colonists died. So, if life in America was so difficult, why did the colonists leave England?

Well, uh, one reason was lack of religious freedom in England. You see, most of the early colonists were Puritans.
The, uh, the Puritans were members of a very strict form of Christianity, and they were not members of the official
Church of England. The Church of England and the English government saw the Puritans as, uh, dangerous
troublemakers, and often put them in jail for their religious beliefs. By leaving England and traveling to the colonies in
America, the Puritans were able to escape this cruel treatment and practice their religion freely. In total, over 20,000
people left England for this reason.

Another reason that people were willing to travel to America was, uh, that the population of England was
beginning to grow rapidly. On a small island nation such as England, there simply wasn’t enough land for everyone.
Therefore, there was very little opportunity for many people in England. Many people believed that the chance for a
better life in the New World outweighed the problems they would face there. Life in America may have been difficult,
but at least there was plenty of land for everyone.
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* e Sample Response ® ©

In the lecture, the professor gives two examples of why the colonists chose to leave England even though life was
hard in America. One of the two main points made by the professor is that some Puritans left England because
they did not have religious freedom. The Church of England thought Puritans were troublemakers and sometimes
put them in jail. The Puritans left England so they could practice their religion. The other main point is that there
was not much land available in England, so there was not much opportunity. America, however, had a lot of land.
In conclusion, the Puritans had the chance for a better life in America.
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Say It Right p.153

1. absolute poverty 2. raw materials

3. marital status 4. ecological balance
5. Cultural exchange 6. public transportation
7. juvenile crime 8. herbal medicine

9. financial aid
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part D

Progressive Test @ p.155

Question 1
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e Listening Script ®

W: So, | guess you won’t be able to listen to your MP3 player between classes anymore.
M: I know. This new policy is so unfair.
W: | don’t think so. The principal makes a pretty good point. All these cell phones and music players are
kind of distracting.
M: Yeah, but if we’re not in class, why does it matter? | like listening to music between classes to, you know, relax.
W: Yeah, but lots of people play with their phones and MP3 players during class time.
M: | don’t. Besides, | don’t think it’s safe to leave expensive electronics in a locker.
W: Of course it is. You have a lock, right? Does anyone else know the combination?
M: No, I'm the only one who knows it.
W: Well then? What are you worried about? It’ll be safe.
M: I'just don’t want to leave it in there. Who knows? Someone could figure out the combination and steal my player.
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® Sample Response ®
According to the announcement, students must leave their personal electronic devices in their lockers during school
hours from now on because they distract students from learning. The man does not approve of the school’s plan.
The man says listening to his music player helps him relax. He says he never listens to it during class time, only
between classes. The man also thinks that a locker is not a safe place to leave electronics. He is worried that
someone might get into his locker and steal his music player if he leaves it there during class.
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® Listening Script ®

Today, we’re going to talk about how scientific advances help people and animals. One interesting example is
of an animal called a gaur. The gaur is a wild ox from India. It is an endangered species. Scientists wanted to see if
they could use cells from a dead gaur to create a new gaur. They put the cells into a cow’s body so they could grow.
Soon, a baby gaur was born. Because of this success, scientists believe that this method could be used to save
endangered animals from extinction. This same cloning technique can be used to benefit humans, too. Imagine a
little boy who develops a serious bone disease. The tissue in his bones needs to be replaced, or he will die. However,
the replacement tissue has to be the same as his own. His parents decide to remove cells from their son. Using
these cells, the doctors can then actually grow new bone tissue for the boy in the laboratory. After they have grown
enough healthy tissue, they will replace the sick tissue in the boy’s body with the new tissue. In the future, it may
even be possible to grow entirely new organs in the laboratory using just a few cells from a person.
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® Sample Response ®
What the lecturer talks about is the way that scientific advances help animals and humans. According to the
professor, scientists copied the cells of a gaur, a kind of Indian ox, and placed them into a cow to grow. Eventually
these cells grew into a gaur. This is basically an example of cloning, as mentioned in the reading, and according
to the professor, it can be used to save species from extinction. In another example of cloning discussed by the
professor, doctors use the cells from a sick boy and copy them in the laboratory to grow healthy bone tissues for
the boy. Both of these examples illustrate how cloning can be helpful for people and animals.

Question 3

® Listening Script

M: Hey, Ms. Sampson, do you have a second?

W: Sure, Jim. What's up?

M: It’s about that presentation you assigned us. | can’t present it in front of the class.

W: Why not?

M: Well, public speaking — it's just not something | can do. | get really nervous and forget what I'm supposed to say.

W: Jim, | understand how you feel. | know it’s not easy to get up in front of a bunch of people, but public speaking
is a fact of life. You’re going to have to get used to doing it.
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. I know that, but if | mess up, everyone’s going to laugh at me.
W: | doubt anyone would laugh at you. After all, they all have to present too. They’ll understand what you're going
through.
M: Ms. Sampson, | just can’t do it.
W: How about if | let you go last? That way, you have time to relax and see how everyone does. You’ll notice that
they’re just as nervous as you are.
. I don’t know if that would help much.

= <

: Or, you could just present in front of me, but I'll automatically mark you down a full letter grade.
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® Sample Response ®
The student’s problem is that he doesn’t want to speak in front of his whole class. The teacher suggests that he
could go last and see how his classmates do their presentations. This will give him a chance to relax and see that
everyone else is just as nervous as he is. The teacher’s second suggestion is that he can present only to her, but
he will lose a full letter grade. In my opinion, the student should do his presentation last. That way, he can watch
his classmates and won’t be as nervous. Also, he won’t have to receive a lower grade.

Question 4

® Listening Script

Today, many parents homeschool their children instead of sending them to regular schools. Homeschooling means
that a child stays home and is taught by his parents. There are a few reasons why some parents think homeschooling
is a better way for their kids to learn.

One advantage of homeschooling is that children get more individual attention than they do in a classroom. A
regular classroom might have thirty students, so the teacher can’t give every student individual attention. However,
with homeschooling there are at most a few students. The parent can work individually with each child. For example,
if a child is having trouble with math, more time can be spent on learning math. The parent can create lessons suited
to the child’s learning style. The child can go at his own pace and work on something until he fully understands it.

Another reason for homeschooling is that it offers a more supportive learning environment. No one will make fun of
kids if they make a mistake or don’t know the right answer. Children who are homeschooled don’t have to worry about
competition or pressure from their classmates. They don’t have to feel worried or nervous about how well they’re doing.
Homeschooled kids don’t have to show off for the teacher or for other students. This gives homeschooled kids more

confidence in themselves and helps them learn better.
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® Sample Response
Two examples of the advantages of homeschooling are given in the lecture. The first example is that
homeschooled children get individual attention. Parents who homeschool can give each child a lot of attention.
They can make special lessons to help their child learn effectively. The second example is that homeschooling
provides a supportive learning environment. The child doesn’t have to worry about making mistakes. If he does
make a mistake, no one will make fun of him. Also, the child doesn’t have to worry about competition with others.
In conclusion, the professor believes homeschooling has several advantages.
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Fit and Explain p.166
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® e |istening Script

M: Well it’s about time!

W: What are you talking about?

M: Didn’t you see the notice? They’re finally banning the use of calculators during exams.

W: But that’s bad news!

M: I don’t think so. So many students have gotten too used to calculators that they can’t even perform basic
mathematics on their own anymore. It’'s so serious that some students have difficulty adding small numbers
together. It's embarrassing if you think about it.

. Still, calculators are so quick and easy to use.

. For big calculations, that may be true. But | think we need to know how to calculate numbers on our own, using
our own heads. Also, don’t you know that a lot of students have been using their calculators to cheat on their

<=

exams?

W: What? How?

M: A lot of calculators have “memo” functions, where you can save short messages. Students use it to save difficult
equations or information, and then they cheat off it during exams.

W: Wow, that’s totally unfair!

M: Exactly. I'm glad the school finally decided to ban them. They were causing more problems than they were

solving.
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General / Specific
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® e |istening Script e

Many of you have probably heard that when you are in danger, you are less likely to receive help from strangers
if you are in a crowded place. There are many explanations as to why this happens, but most experts believe it is
because people tend to downplay the seriousness of the situation when surrounded by a big group. One reason
for this is because they are simply doing what everybody else in the crowd is doing. Since everybody else is doing
the same thing, which is nothing, they believe that the victim really does not need any help. In cases of emergency,
bystanders monitor the reactions of other people to decide if it is necessary to intervene, rather than the actual
situation.

Moreover, bystanders assume that somebody else will jump in to help. This is called “diffusion of responsibility.”
Because everybody in the crowd believes that someone else will intervene, they feel less responsibility to help and
end up doing nothing. In experiments, when in groups of three or fewer, everyone in the group took action. However,
in groups of ten and larger, almost no one ever took action.
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Problem / Solution p.170

® e |istening Script ¢

: Hey, Debbie. | need some advice.

. Sure, what is it?

: 've run out of money, so | can’t pay for next semester’s tuition. | don’t know what to do.

: I’'m sorry to hear that.

: Do you have any solutions?

: How about taking out a loan? That would be the quickest and easiest way to solve your problem.

: I hadn’t thought about that. Although ... | have read an article about student loans in the newspapers, and the
rates seemed pretty reasonable.

. Well that’s good news.

: But I hate the thought of being in debt. I'm only a student!

. Well, there is another option.

T ==L

=<z
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M: Really?

W: Yes. There is an option of taking the semester off and getting a job. You can make the money for your tuition and
you won't be in debt!

M: But | won’t be able to learn anything for one semester. Isn’t that a bit wasteful?

W: It depends on how you look at it. By getting a job and making money, you could learn about the value of money.

Plus, you could learn a lot of other things that you can’t learn by sitting in a classroom.
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Summary p.172

® e |istening Script ®*

Many of you have heard people say that electric cars will reduce our usage of gasoline and help protect our
environment. However, there are many aspects to electric cars people don’'t know about. Today, I'd like to discuss
why electric cars may actually be more problematic than helpful.

So first of all, although electric cars are much better than they were in the past, there’s still a big problem: there’s
nowhere you can recharge the battery. The only place you can recharge it is at home. So that means you can’t use electric
cars for long trips. What is the point of having a car if you can’t use it for long trips? Unless we have stations where
you can recharge your battery, electric cars cannot be a practical alternative to gasoline-powered cars.

Uh, also, using electric cars will cause new problems. Switching to electric cars may help reduce air pollution
caused by using gasoline, but where will all the electricity come from? The only realistic way to produce enough
electricity to power many cars is to build nuclear power plants. This also creates pollution problems. Not only that,
there have been many incidents of nuclear power plant meltdowns that caused life-threatening amounts of pollution.
So whether electric cars reduce pollution is questionable.
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Actual Test 6 p.174

Question 1 of 6

® Sample Response *
The most interesting place | have ever visited was New York City. There are two main reasons for this. First, |

was able to learn about American culture. | ate American food, | went to a baseball game, and | spoke English.
Doing the things that American people do showed me how they live and allowed me to understand them better.
Second, New York City has many tourist attractions. | saw the Statue of Liberty, Central Park, the Empire State
Building, and so on. | had always seen those places in movies, and | was happy to be able to visit them myself.

Question 2 of 6

® Sample Response ®
| think that community service should not be a part of the curriculum in schools. This is because first, when it

is mandated in schools, students will not feel a human connection in doing things they don’t want to. Helping
those in need should be done voluntarily, so that students will feel the pride and joy of helping others. Secondly,
students will do it just for the sake of obtaining credits. Granting credit for forced community service will only

cheapen the meaning of helping others.

Question 3 of 6
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® Listening Script

M: Hi, Ella. Did you hear about the new policy about using school computers?

W: Yeah. | think it’s really unfair. How am | supposed to send emails? | don’t have a computer at home.

: Well, that’s part of the problem. The people who don’t have computers at home need to use the ones at school.
But sometimes it’s hard to find one that’s free, because they’re all being used by people playing games or looking

<

at websites that have nothing to do with school.
W: | think you’re exaggerating. Sure, people use the computers for fun stuff, but that doesn’t mean they aren’t also

working on school stuff.
M: Maybe, but I've had to come in early every day this week because that’s the only time | can get a computer. | think

the policy is fair. People can go to an Internet café if they want to play games or send emails. The computers in

school should be available for people who need to get work done.
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® Sample Response ®
According to the announcement, students will no longer be able to use the computers in the computer lab to
send emails or chat online. The man seems to support the school’s policy. He says that sometimes he can’t get a
computer because too many students are using them for enjoyment instead of for work. He says that he’s had to
come into school early just to be able to use a computer. According to the man, the computers at school should
be reserved for studying, and students should go to an Internet café if they want to play games.

Question 4 of 6
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e Listening Script ®

The mind is pretty powerful, and has a lot of influence over the state of our physical bodies. Researchers have
done a lot of studies on, um, how thinking affects pain or sickness. In one study, people with colds were given
medicine. One group received tablets containing real medicine. The other group received similar tablets that were
full of harmless powder. The people in the second group didn’t know their medicine was fake. Soon people in both
groups reported feeling better. Scientists believe this is because when people take medicine, they expect to get
better. This expectation helps their bodies heal.

Another study was done with people who suffered from arm pain. Half the people were given fake pills. The other
half received fake acupuncture. So everyone in the study was treated with fake medicine, and guess what? Many of
them said their pain had improved significantly. Once again, people’s expectation of getting better actually helped
them to get better.
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® Sample Response

The professor discusses how our minds affect our sickness, as mentioned in the reading. He explains how in
one study some people with colds were given real medicine while others were given fake medicine, which they
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believed was real. According to the professor, the people who took the fake medicine also got better, because
that is what they expected to happen. In another study, people with arm pain were given fake medicine and fake
acupuncture. Again, most of the patients got better. These are examples of the placebo effect, in which fake
medicine that appears to be real are just as effective as real medicine.

Question 5 of 6

® Listening Script

M: Hey, Mary, have you heard about this school essay contest? It sounds like a lot of work.

W: Yeah, someone mentioned it earlier. But what'’s the big deal? It’s optional, isn’t it?

M: For seniors, it isn’t. You guys have to submit something. And it has to be a new essay, so you can’t just hand in
something you wrote last semester.

W: You're kidding. I'm really busy these days. When am | supposed to find the time to write an essay?

M: Well, since the school is insisting you write this essay, maybe you could ask your teachers to let you work on it
during class. That way, you won’t have to write it in your free time.

W: That’s one possibility.

M: Or, you could just submit something you’ve already written. You know, change a few details or make it a bit
longer. The contest people won’t know it’s not a new essay. That would make your life a lot easier.

W: Hmmm. | guess I'll think it over a bit. Thanks for the suggestions, though.
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® Sample Response ®

The woman’s problem is that all students have to participate in an essay writing contest, but she doesn’t have
time to write the essay. The man suggests that she could ask her teachers to let her work on the essay during
class, or that she could use an essay that she has already written. | think she should ask her teachers to let her
work on the essay in class. She’s required to participate, so they should give her the time to write the essay. Plus,
using an old essay seems a lot like cheating, and if she gets caught, she might get in trouble.

Question 6 of 6

® Listening Script

Well, direct marketing is becoming an increasingly popular sales technique. It's when a company tries to sell
something by communicating directly with customers. This is done in a couple of different ways, but the most
common are phoning people at home or emailing them.
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A lot of companies that offer services don’t have actual stores customers can visit. So what these companies do
is, uh, sell their services over the phone. This is called telemarketing. Long-distance telephone companies, banks,
and credit card companies use telemarketing a lot. A salesperson will call a potential customer and explain the
various services his company offers. The salesperson will try to get the customer to switch over to his company. The
salesperson and the customer never see each other during this interaction, and the customer never has to leave his
house.

Um, another way companies use direct marketing is through the Internet. Millions of customers can be reached
through the Internet. Companies advertise on websites they think potential customers will visit. Interested customers
can click on the advertisement, go to the company’s website, and buy products or services. Once the company has
the customer’s name and address, it can send them advertisements or catalogs through email or regular mail. Other
companies email advertisements to millions of email addresses, hoping to make sales that way.
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® Sample Response ®
In direct marketing, companies directly contact potential customers in order to make sales. One example of
this given in the lecture is telemarketing. In telemarketing, the marketing agents for the company call people at
home and try to get them to buy the company’s product. According to the professor, companies like banks and
telephone companies often use this kind of marketing. Another example of direct marketing is Internet marketing.
Companies advertise on the Internet because they can reach many customers. Once they get the customer’s
name and address, they can send them catalogs and emails to try to sell them even more stuff.
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Actual Test @ p.182

Question 1 of 6

® Sample Response *
The person | always go to for advice is my roommate. That is because she is a person who knows me better
than anyone else. We are the same age and we study together. Because we spend lots of time together, she
knows me very well. Furthermore, she is a very sensible person. She is always calm and thoughtful. When | ask
for advice, she always understands what | need. For example, when | asked for help in math, she advised me to
change my study habits. She is a really helpful friend.

Question 2 of 6

® Sample Response ®
| prefer not to know what’s going to happen in a movie before | see it. If | already know what is going to happen
in a movie, then | can’t get emotionally involved in it. There’s no surprise or suspense. What keeps me interested
in a movie is waiting to see what is going to happen next, and obviously, | would lose that element of surprise if
| already knew what was going to happen in the movie. Even with my favorite films, | never enjoy them as much
when | watch them a second time as | did when | watched them for the first time and didn’t know what was going
to happen.

Question 3 of 6
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® Listening Script

: Hey Marie, did you see the letter to the editor about the new parking lot?
: Yeah. | have to say, | agree with it.

: Do you? I'm surprised.

: Why? Because | drive a car to school?

: Yep. | thought you’d be happy about more parking.

== =KL

: More parking would be great, but it’s true that there’s no green space on campus. We can’t eat our lunch outside
or even just hang out, because there’s nowhere to sit.
M: That’s a good point, but we’d only be able to do that for a few weeks out of the year anyway. We’re on vacation
all summer, and spring and fall don’t last very long.
W: Yeah, but the letter also points out that a park would be more environmentally friendly. The school is always going
on about how concerned it is about the environment, and then they want to go and build a parking lot? That’s just
going to encourage more students to drive cars to school.
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® Sample Response

The woman agrees with the letter saying that the school should turn the field into a park instead of a parking lot.
She thinks it would be nice for students to have a place to sit outside to eat lunch or hang out with their friends.
She says the school has no green space where students can spend time outside. The woman also points out
that the school claims to be concerned about the environment, and that putting up a parking lot would encourage
more people to drive. She says a park would be better for the environment than a parking lot.

Question 4 of 6
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® Listening Script

family, friends, classmates, and co-workers. We build relationships for different reasons and in different ways. For
example, um, a lot of you probably have your own homepage on the Internet. This is a great way to meet people
that you have stuff in common with. Your friends look at your homepage, and their friends look at it. Soon, you’re all
looking at each other’s pages and chatting online. Probably you’ll also chat with strangers you meet through your
page. This interaction fulfills the same social needs as regular face-to-face communication.

let’s say there are a bunch of engineers all over the world trying to solve the same design problem. Normally, the only
time they would see each other would be at conferences a couple of times a year. Distance makes getting together
inconvenient and expensive. That means sharing information and exchanging ideas is difficult. But thanks to the
Internet, these engineers now have unlimited access to each other’s ideas and information. They can work together

and solve the problem efficiently. The fact that they’re all in different places and have maybe never met doesn’t really
matter.

I’m sure you’ll all agree that people are pretty social. We enjoy the company of others. We spend lots of time with

But this kind of online interaction isn’t only for fun. Lots of people use it for professional reasons. For example,
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® Sample Response ®

The professor talks about the way people use the Internet to communicate and build online relationships, as
mentioned in the reading. The professor describes how people use the Internet to connect with their friends. He
mentions that personal Internet homepages can be a good way to meet other people. Chatting with people on
the Internet fills the social need humans have to talk to others. Another example is the way some people use the
Internet for business purposes. People who are working to solve the same problem can exchange information
with each other easily. Basically, the uses of the Internet that the professor describes are examples of social
networking. According to the reading, people build group relationships to serve different purposes, and groups
can vary greatly in size.

Question 5 of 6

® Listening Script

: Hey, Brent. You look upset. What'’s up?

: You know Frank in our chemistry class?

. Yeah. He’s your lab partner, right?

: Well, he’s supposed to be my partner, but guess who does all the work?
: I m guessing it’s not Frank.

<= =< =

: He never does a thing. He just sits there and doodles in his notebook, and then when Ms. Walsh comes around,
he tries to look all busy.

: So, just tell Ms. Walsh Frank’s slacking off and you’re doing all the work. | bet she’ll straighten him out.

. | thought of that, but you know, we’re not little kids anymore. | can’t just tattle on him.

: I don’t see why not ... | mean, if it's causing you so much stress, you have to do something.

. | definitely have to do something.

=<z =2

. OK, if you don’t want to tell Ms. Walsh, just talk to Frank directly. Tell him you’re sick of doing all the work and he
better start doing his share.

<

: I’'m not good at confrontations ... | hate situations like that.

W: Well, you have to do something. You can’t just let Frank coast while you do all the work.
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® Sample Response ®
The man’s problem is that his chemistry partner doesn’t do any work, so he has to do everything. The first
solution the woman suggests is that the man tell the teacher about his lazy lab partner. The second solution she
suggests is that the man speak with his partner himself. | prefer the woman s second suggestion, because it's better
to deal with things directly. If the teacher gets involved, the man’s partner might get angry. This would make the
situation even more unpleasant. However, if the man speaks to his partner directly, the partner might be more
cooperative.

Question 6 of 6

® Listening Script

Musical improvisation is when musicians make up music while they’re playing. They’re creating new music at the
exact same moment they’re playing it. This is a great way for musicians to show off their skill. It’s kind of like having a
conversation where you don’t know what you’re going to say before you start talking.

One musical style that uses a lot of improvisation is jazz. In a jazz band, one musician will play a melody. The
melody is the main tune in a piece of music. It’s like the skeleton of a song. One or more other musicians will
improvise along to the melody. They will just play whatever they think sounds good at the moment. This means that
every time they play a song, it sounds different. How the musician plays depends on how he feels. The song might
sound happy, or it might sound sad. There are no rules to improvisation in jazz music. Musicians can do whatever
they like.

Another style of music that depends on improvisation is the traditional Indian music called raga. A raga is a basic
melody that musicians improvise to. Raga improvisation depends not only on the musician, but also on factors such
as time of day or season. Unlike jazz, however, there are certain rules to raga improvisation. Musicians must play
certain combinations of notes. Some notes must be emphasized more than others. A good raga player can improvise
for up to an hour.
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® Sample Response ®
In the lecture, two different styles of musical improvisation are discussed. The first example of musical
improvisation is jazz. According to the professor, one musician plays a melody while other musicians improvise
to it. There are no rules, so they play whatever they think sounds good. Because they are making the music up
as they go, each time they play a song it sounds different. The second example the professor gives is Indian raga
music. Raga music is a simple melody using musical improvisation. Unlike with jazz, musicians must follow certain
rules during improvisation. For example, they have to play and emphasize certain notes.
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